L I i ]
1 | | [ =
2. .
3.
4.
I 5.
i 6.
i i Excel
2002 2002
3 o
32 10 1999
|
Q
Uss Uss uss Uss
Billion Billion Billion | Billion
273 83510 1 | 41| 30600 8 | 31 8350 30,600 4
1271 40789 2 | 10| 32230 6 | 08 30429 24041 14
82 20792 3 | 12| 25350 13 | 12 1837.8 22044 21
Q 59 142720 4 | 24 | 23480 21 | 2 12938 21,897 24
59 13381 5 | 17| 22640 22 | 16 | 123440 20883 27
58 11360 6 | 10 | 19710 28 | 09 | 11930 20,751 29
12500 9802 7 | 7.2 780 140 | 63 | 411220, 32,181 128
168 7428 8 |[-20 44200 70 | -32| 106L70| 6317 81
31 5914 9 | 38| 19320 29 | 28 7261 23725 16
| 39 5516 10 | 37 | 14000 40 | 36 659.3 16,730 41
| World Devel opment Report 2000/2001
19882 2002
3 o o
I 3.1 - 4960 32 - 4997
32 -8 33 -8
|
2% 2% 0% 5% 29% s % 6% 2% 170
1 Excd 33 62% 36% 34%
| 2 33
31

33 2 32

2002

2002




3.4 Excd

#ean | aiw |

:

& Bl LA )
& s 4
=g
|
s =8 "y
| =E - | =
2002 19662
3 o
3.6 3.5
| N %
Nokia 13 Nokia 0.28 28
Mc_xorola 8 Motorola 0.17 17
Ericsson 7 Ericsson 0.15 15
Se'ﬁm 6 Siemens 0.13 13
Philips 5 Philips 0.11 1
Acer 4 Acer 0.09 9
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1 0<x<1000 500 6/60=0.10 10 CF; i
2 1000<x<2000 1,500 12/60=0.20 20
3 2000<x<3000 2500 18/60=0.30 30
CF =f+f,++f;
4 3000<x<4,000 3500 15/60=0.25 25
5 4,000<x<5000 4500 6/60=0.10 10
6 5000<x<6000 5500 3/60=0.05 5 DF,
1.00 100
DF, =f; + f, +- f,
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1 0<x<1000 6 6 3+6+15+18+12+6=60 CRF,
2 1000<x<2000 12 6+12=18 3+6+15+18+12=54 CRF, = 1f, +1f, 4ot 1f,
3 2000<x<3000 18 6+12+18=36 3+6+15+18-42
4 3000<x<4,000 15 6+12+18+15-51 3+6+15=24 Q
5 4,000<x<5000 6 6+12+18+15+6=57 3+6=9 i
6 5000<x<6000 3 6+12+18+15+6+3=60 ) DRF;
DRF, =rf; +rf, +--+rf
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X Y
1 0<x<1000 0.10 0.10 1.00
2 1000<x<2000 020 0.30 0.90
3 2000<x<3000 030 0.60 0.70 0]
4 3000<x<4000 025 0.85 0.40
5 4000<x<5000 010 0.95 0.15
6 5000<x<6000 005 1.00 0.05
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